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/ General Instructions to Candidates : \

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 10 questions from 1 to 12. Each carries 1 score.

The financial sector in India is regulated by :

(a) State Bank of India (b) Reserve Bank of India
(c) ICICI Bank (d) HDFC Bank

‘Jail Cost of living’ is related to :
(a) Jawaharlal Nehru (b) VKRV Rao
(¢) Findlay Shirras (d) Dadabhai Naoroji

The main occupation of workers in India during British period was in :
(a) Agriculture (b) Industry
(c) Service (d) Information Technology

Which one of the followings in an example of social infrastructure ?
(a) Railway (b) Hospital

(c) Airport (d) Power-station

The country which introduced one child norm to control population is :

(a) USA. (b) India

(¢) China (d) Pakistan

NCERT is related to :

(a) School Education (b) Medical Education
(c) Technical Education (d)  University Education

A serious environmental issue is :
(a) Organic Farming (b) Afforestation
(c) Population Control (d) Global Warming

Pilot Survey is :

(a) Pre testing of questionnaire before actual survey
(b) Testing of questionnaire after actual survey

(c) Testing of Sampling error

(d) Testing of Non Random sampling

The value of mode can locate from :
(a) Pie diagram (b) Bar diagram
(c) Arithmetic line graph (d) Histogram
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1 ¢capod aflow. (10 x1=10)
EDIN LHS WMBI0 CALIHW WO ENMN@

(a) @G egug mIon; (SBI) (b) ool dlavdal snios, (RBI)

(¢) ICICI enuos (d) HDFC enios»

‘201ad elall®eaaieinl” mIMLa|SIBlENM®
() 2AOBRIIGBI M) (b) VKRV ooay
(¢) afdaBdawsel axlooay’ (d) BoroEI Malcno]

ENGlam)300)0S HOLIBTH DN LM H@DIFILINSE]HBIOS (A IWIM HDIYITI CARIe! :
(a) >yl (b) iV
(c) eavaimo (d) allae cves:ols allay

LOMAT B> AlURIIBTHEI AMVDBOLETBUBES) B30) DBIAODEMo |
(a) oxladeal (b) ®RYUVI@I

() alladmomoniso. (d) eecsyoi dleiwo

2MAVosy FREMEMOTIM calME]l BQEMSG MWo MSa L1085 CoRYo :

(a) USA. (b) enay

(c) 66am (d)  arossilaunoad

NCERT snimweq|gl@leam

(a) aUBB aflzypeyPavo (b) @REEIW) allzyeipave

(o) avemoia alldyeiave (d)  avdaiaenuoel all3yePave

1DOAUGAGIW 30) aldBIMAGI B (IVOMAEN
(a) eomaIdyHl (b) AaMAUBEHEMO
(c) =2:mavaly Wl E@E»eMo (d) @EREWI8 ®IalMo

96alLIq TVBHAI af)aMITI :

(a) ©@NIARLL AVAEAICHS MBS alBlB:HeN TLACAI
(b) ©LNIBLL AVBEAUBH CUDHMBES alGlB:u6m TLABEA
(c) avomiglesr all®and®@d al@lcuooUlen @3

(d) @B flea®d uomiglen aldlcuoouwlesn@d

Mla0)eld: Meljo (mode) (N2aflenss @me) allSlena @M 9alcIUlenaN® :
(a) 661 wWo (b) nI2B AWWo
() weMl® coaldWan (d) odlavegowo
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Which of the following is a measure of central tendency ? (measure of average)
(a) Karl Pearson’s coefficient of correlation

(b) Mean Deviation

(c) Arithmetic mean

(d) Standard Deviation

Graphical Method of studying correlation is :
(a) Ogives (b)  Scatter diagrams

(c) Lorenz curve (d)  Frequency polygon

Consumer Price Index (CPI) is also called :

(a) Laspeyre’s Price Index (b) Wholesale Price Index
(¢) Cost of Living Index (d) SENSEX
Answer any 6 questions from 13 to 21. Each carries 2 scores. (6x2=12)

List out any two goals of India’s five year plans.

Mention any two reasons for the implementation of New Economic Policy in India in
1991.

Choose the correct term from the bracket and answer the following :
(Spatial classification, Chronological classification)

(a) Classification of data with reference to geographical location is called
(b) Classification of data with reference to time is called

Calculate Quartile Deviation from the following data :
First Quartile (Q,) =30
Third Quartile (Q;) = 80

Write any two qualities of a good questionnaire.

Point out any two advantages of organic farming.

State True or False.

(a) A school teacher is an example of casual wage labour.

(b) Majority of workers in India are employed in unorganized sector.

Write any two uses of Index numbers in Economics.
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10.

11.

12.

13.

14.

15.

16.

17.

18.
19.

20.

@989 alOWIIMAIIG3 CAMB(AIQUTN@I AIMdo (VORIVOE] AOM o)
(@)  @UB allcYaLHAZ AVAOMIMD NEMOEHo

(b) @wyaIGIwIMo

(c) LAWY

(d) @0m® aly@lomoe

MVa0MNIMWo B:36MINB DalEIWEHNMM (N2aN BIGIHW alOWAND
(@)  ave @l al@o (Bedlaiav) (b)  aVEHIGA W™ Wo

(c) cRI0MaV al@o (d) @RIEDI MiIn0)E)20
Da1cRIG® aflel MV)a lde® allglesn)am B86QI0) Gal® :

(a) enmallcwymion allel ajalle (b)  eavemaler av)alls
(c) allmesjeiai av)ails (d) ecvadeavaay

13 2)®08 21 A100W)BS ¢a1064IBEIG3 aBO®BIEN 6 AfIPOTIM DOMOOAY) @)D
2 capod afl@o. (6x2=12)
DM@ MSaIRINGF® aleIAIGIVO alCLTIBHGIOS aBO@BILN OMNE L1d: 63U
af) 910D

@3 1991 @8 MSaflenasl@ anemad avomIele maslm (NEP 1991)
B3006MMAIW ORI E1)o AENE MVIA02IQYEIBUD af)$))H:.

ENI0E9GI@3 MlaM)e  @OMIEWILAIW alBo H@OORETNSITI), GIOYEHOS)HNAN

G2 10B{60BU3EE) DD MEIB): |

(napefl@ a1dyle06mo, G:0e10maVI® AIBYd:0smo)

(@) @@ldaV[®  alE2V]  AUORIEBSIOS  ERSINOIMEIIG  BONTBOS
adglaclanmaiom afigleman’

(b) avaoEleg ERSINCOMETIGE BEMEBES AGYlAElENMGIOM alOWAN®’

IOY 6)HISIBENAN BANEBUB DaleWIUTla] al®BGNB: AIGIWIMo (QD) B30 .
BaNIAOOD a1@MAB®DBo (Q,) =30
@AM DB 21BN (Q5) = 80

BOMCUORIEEMDATHIT DalCWIUTBNMN G213B100ILNEH DMBIVIGIGHNME U1}EMETBUD

ABO@EIL10 ONBEMNO af)$)@)d.

00201 A\ eHWAS aBODBIILN0 RENE 1NEMEIBUD 21)MElBNET BB,

VOBl H@OYI ) af)$) @)

(a) aveaElad coell a2 80} Slajd ®@oeiendeld @ell amo¥lengles
DBIOOEMAEM.

(b) e ieel g)dlaldto OH®IKILINE]B:Bl @RAVCLISI® cAGILIIEINM ce20eil
621N,

VOB D VINV@DTNMI MV 1RHIBHIBINS ABODEILNo VNE  DalGOIUNEBUD

af) 910D
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21.

22.

23.

24.

25.

26.

27.

28.

Complete the flow chart by writing the other two types of bar diagram.

Bar diagrams

a. Multiple bar diagram b.

Answer any S questions from 22 to 28. Each carries 3 scores. (5x3=15)
Write any three advantages of Green Revolution in India.

Classify the following under the heads of workers in Formal Sector (Organised sector)
and workers in informal sector (Unorganised Sector)

Police Officer, Cobbler, Farmer, KSRTC bus conductor, Clerk in a government school,
Construction worker

Write any three uses of statistics in Economics.

(a) Distinguish between primary data and secondary data.
(b) Give any two examples of secondary data.

Name any three measures of dispersion.

Calculate price index number by using simple aggregation price index method.

Commodities | Price/Kgin 2019 | Price/Kgin 2020
Py P,

Sugar 30 40

Rice 25 30

Onion 15 20

Tomato 20 20

Complete the steps of a project work.

Identifying of a problem / or area of study
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21.

22.

23.

24.

25.

26.

27.

28.

GaQ0 210@51@3 Aflg) Galo® A} GaNE) GO0 MIKG WD WEIBRBOS Cald af) )@

MDA AWUNEIBUD

a. NIaMI2M MIdG W Wo b.

22 2)®@3 28 AH0WBB 23RS aBO®BIEIS S af)INOTIM POMOHAFL®)d>.
3 capod aflo. (5x3=15)
SO @3 MSAM 20BI® AflgJAIGTO aBO@EIENC AN DIFMNMETBUB Af)$3@).

@O HBIS)HNINAI  QVoLISI®  caaleIVlael  a®IFIRIEdhUB, @RIVCCLISI®
caa1e10o el H@1eI0g]d:ud af) il 06NE) ®E1OBHSFI3 AIBYS D199

caloellav’ 9esynaLnad, §aldla@ari, dieula:0008, KSRTC mimiloel &messae,
wmmﬁoc@" msmsEle sl MPaV®ad (Qgéoes)”), MBemoem ™oyl elog]

qLOMIEDID  VOIATV@ATNE  TVIAUIBATIOMW CRO@BIL MAD DalGWINEDBUB
)9}

(a) (WAl oMo 305l BEMEBRe MIAENSS ALV af)eI@)b:.
(b) 6cil 3EMEBRBES ROMEILN BENE DBIAODEMEIBUD af) 91 d:.

(IBIBEMM DOMBEIBBOS aBODEIEN0 MAN Cal@)HUD af)$)@)B:.

eBILITVe @ afllel AV)ald: BlG] 9alcoUila] allel V) d:080 GEMENIBEB:.

Q) HOHUD 2019 ee1 ailel 2020 oe1 ailel
(&leenwoalod) (Seenwonld)
Py P,
alerd 1V 30 40
@nool 25 30
063631 15 20
@ BN 20 20

830} 61025 21dSNO A3 aflaflw *LISEBU3 o BB ACl 99>
° (@1UoMo a;ra%aaﬂasa alom caalel @dla|dlwd,
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29.

30.

31.

32.

33.

Answer any 3 questions from 29 to 33. Each carries 4 scores. Bx4=12)
Give any four reasons for the low productivity and stagnation of agriculture in India
during colonial period.

Match the following :

A B
NABARD Milk production
Self Help Group Measures to improve agricultural

marketing system in India

Operation Flood Apex body of rural finance in India
Assurance of Minimum Support | Kudumbasree
Price (MSP)
Complete the following table by choosing appropriate features of India, China and

Pakistan.
[Commune System, Second Largest populated country in the world, High Fertility rate,
High density of population]

India China Pakistan

Prepare a frequency array from the following data :
25 30 31 35 36 38 37 35 30
25 28 28 30 36 31 30 38 30
25 30 30 36 38 37 35 30 25
30 31 35 38 40 38 40 30 31
30 28 25 30

Identify the type of correlation from the following scatter diagrams :
y y

(a) (b)

(c) (d)

FY-868 8




29 @3 33 AHPWBB G2 BIEBSEI08 aBO®BIEIS 3 Af)INOTIM POMOHAFL®)d>.

4 cnpod aflo. Bx4=12)
29. @280 EOAMGILIO  MHANIWES  3HVBaHld:  casueiRleel  B3:)060)

D@ [OBMBHUADEN)o, ATVDoEMOICITVLOBNMEBT RO} MOLI)  HOVMEBUD

af) 910D
30, e®080 A ®loel meneg B @leel snmemsmowf cwoedlaflood

A B
menIoBaw’ aloeneialoBMo
VJWo VAW AV LIETBRUD MA@ 30Basld  Aflatemmo
OR2|0a|S)OMOB af)S)OD MSals]
6300]E00H % aQw’ Wadlem WM NN @3
WO E9aM DA GeNUIAL]
)06 @osa3)aflel 90aj089®3 (MSP) | @5)Sloemnid)]

31, 1009 gl@d aflamie EHADY, OO2IM, aldSsIaTL00d ATl 00234618 M00] NINLEA]S
TVANGUIH @ BB BRMIGIR|NIVD HDVEEINS)AD ISl B al)ADTIN:GH6)B>
[@22)6M8 VMIBOWo, CLIOBOTIM aBQ0lle dISINGI BRMAVos BB OMNESONE B0
IR, DWAAN (oJ@(gg«SEs'%JOBm Mo, HOAAN LMAVIM® |

MY O alm aldAHN MO0

32, @619 6@B3IS)OT) B0 DalGWIUila] BRYAINBITI MO GQYINIBND: :

25 30 31 35 36 38 37 35 30
25 28 28 30 36 31 30 38 30
25 30 30 36 38 37 35 30 25
30 31 35 38 40 38 40 30 31
30 28 25 30

33, ®00% OISO U 9998 W@WenEIE8 MlaN]e MVa0MIMWo @@l |olw)d :
y y

(a) (b)

.
.
. ,"‘-'
- L
| W LAY
(c) (d) SRR
N,
.
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34.

35.

36.

37.

38.

39.

40.

41.

Answer any 3 questions from 34 to 38. Each carries 5 scores.

(a) What is outsourcing ?
(b) Give any three examples of outsourcing services
Explain the five sources of human capital formation.

What are the challenges faced by the power sector in India ?

Complete the missing parts of a table
(i) Table number

(i1)

(iii)

(iv)

v

(vi) Unit of measurement

(vii)

(viii) Note

Calculate standard deviation from the following data :
Marks

10

15

25

30

Answer any 2 questions from 39 to 41. Each carries 8 scores.

(a) What is sustainable development ?
(b) Explain any six strategies for sustainable development.

(a) What are the causes of poverty in India ?

(3 x5=15)

(2 x8=16)

(b) Explain any two measures taken by government to alleviate poverty in India.

Calculate Arithmetic Mean and Median from the following data :

Weight Number of Children
0-10 2

10-20 4

20 - 30 10

30 —40 3

40 - 50 1
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34.

35.
36.
37.

38.

39.

40.

41.

34 2)®@3 38 AWOPWBB 210348 aBO®BIENC 3 AfPPOTIM DOMOOAY) @)D

5 empod ail@o. B x5=15)

(2) an0o aleMIBNIAB af)IMIG3 afa® ?

(b) anoo  aIMIEHEICIENOSBS  CAVAIMEBUWBHN  aBO@BIEN  MAN
BIAOVEMEIBUB af)$1@)D:.

AMa§ MEIWM O)alldoem@Dong @rea) 20QNSeRU3 AllaIdles)d:.
Hamfleel ©6aBRG@I caale! cmElS)aN HAILNAIElaud af)meloo ?

830} al5laWes afl5)Ealow BINEBUY al)BOISI 3@l Ee)d

(1) a1sle maud

(i)

(ii1)

(iv)

)

(vi) @rgaleng apddo

(vii)

(viii) @dlaj

@69 63HISYBID BONo DalCWIUIla] MIM> AYGIWIMo HeNB)allSIen)d: :

Mark
10
15
25
30

39 2)®@3 41 AWOPWBB 210348 aBO®BIENC 2 af)GPOTIM DOMOOAH) @)D
8 cmpod ail@o. 2x8=16)
() aVILNE All&AVMo ag)aANIB3 AT ?

(b) e Alla:rLM@TNMINIVINIW FOD@BIEIe @IRYO MOEBUB ANAIBIEE)H:.

(@)  myiloe! BAIEOTIMES B00MEBUD af)TNE]do ?
(b) I8 BORIBY L1°LNGEEMBBIM) EalNEl NAITNBOHAG Af)S)OD) BEO@EILNO
Q&NE) MSalSlhud Allaidle)s:.

®IBY MEIGIW BT DalEIW] ] TVAIMNOAIW o AWK af)AVIAL 306D

@A )5lHB)OS nf)gno
0-10 2

10-20 4

20-30 10

30-40 3

40 -50 1
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